RE7AN EE& BE% %EULOEE 03

RD )X (SH20®, Af35F, Bik4s B, CH147)
(1) ADI0%HL = A x (2) Ax12=AD %3 L
(3) AD21 %M =A x (4) Ax116=A®D %4 L
(5)  AD5BMWL = A x 6) Ax18=AD %14 L
(1) ADS%ML = A x (8) Ax105=AD %14 L
(9) AD252%HL = A x (100 A x1.0142=AD %1 L
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(3)

(5)

(7)

(9)

AD30%HL = A x

AD24 %M = A x

ADB3 %L = A x

AD4%IEL = A x

AD24%HL = A x

(2)

(4)

(6)

(8)

(10)

ZADX. (SH20F, A3, Bikas®, C#k14y)

Ax11=AD

%3 L

Ax119=AD

%HE L

Ax173=AD

%HE L

Ax101=AD

%HE L

A x11403=A D

%HE L
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R#ETFAL & BIE% %EULOER 03 @EEEH

RD K. (SH208, A3, B4 ®, C#14y)

* TTDEDEIGIF 1

(1) AD10%¥L =A x| 1.1 (2) Ax12=AD]| 20 |%hIL
1+01=1.1 (1.2 —1) x 100 = 20

(3)  A®D21 %M = A x| 1.21 (4) Ax116=A®D| 16 | %MWL
1+0.21 =121 (1.16 — 1) x 100 = 16

(5)  ADH2%WL = A x| 1.52 (6) Ax183=A®D| 83 |%raL

(7) AD8%ML = A x| 1.08 (8) Ax105=AD| 5 [%rL

9)  AD252%HL = A x| 1.252 (10) A x1.0142=A D | 1.42 | %L
1+ 0.252 = 1.252 (1.0142 — 1) x 100 = 1.42
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(3)

(5)

(7)

(9)

AD30%HL = A x

1.3

AD24 %M = A x

1.24

ADB3 %L = A x

1.53

AD4RIL = A x

1.04

AD24%IEL = A x| 1.024

(2)

(4)

(6)

(8)

(10)

ZADX. (SH20F, A3, Bikas®, C#k14y)

Ax11=AdD]| 10

%HEL

Ax119=AD]| 19

%HE L

Ax173=AD| 73

%M L

Ax101l=AD| 1

%HE L

A x 1.1403=A O | 14.03 | %kg L

© Bef - BEE L &7 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

